Recall © fmvrse 'Q'V‘"""‘o“ Y

' ‘2 ,g_ R“’\__,, w2 d,&e-'ab‘&, G\ﬂd

i) won-singulad s tharts o “3"4

UA B ond VER sum Aval
LUV ek ond Lhy—U

s dillecanbiabie -
twplicit Huncbion dneorcn [§F Morkea]

Ciwm L eg XU 2¢*® =0

# dekerwines Yos o “hmchiom ok %,
e con calanbade 52 by Wplicrd
c\‘.%m“v‘*‘m-

W gprerad it Toud =0 dekanway

Cann  calculale




¢/ ax |
2\“%
d“=-
ax

L
&) (‘s n ‘L‘\O&
s

w

cw

4
%lﬁya
'.Q— “3'3

t,

In Yoo

* 4o

%5

be
Qﬁénr
§ o
. LT
i\
: Jdm & L
S S, gl £4)
(Xi.ﬁr-w IQ. -uM- 21’ -.')
iﬁ&fi&w‘ " Q»-'—'..( n
S D
.;g;‘g R::l -
: N uw volabio
D_g— WH
We

4
e-—-\
> T X
! n--')ﬁ_:‘ )
E t»---,x

-2
g2

ﬂ.
’a(."h!_);g'_x_;o)
tﬁ 10,3

{

erg

en

¢ 9

mov

Ny

e
s




4uc e Q-wedax Wit eutey
W ?Oslhm (P c*\ bﬁtns ’a{'w

Thw . Lok ‘3:“2 d.v\R oncl  wrile

Woas $-4GR) . (RA) e R x R

I¥ there s o &ifflable fen

q: R*— R Sudn that
‘362.(5(51‘-::0 +then

('J Ly\\*' (x 430) DY()-0

Nol—(.. tuns .w,e\,a eS

DY) = - ( a‘é(x .S(x\\) (X.de)

So e xw weddx %—% must



be hon-Singulus wl (9.

Prood - Debioe h(3) = (3.46))
ond B
H(): = &) = $H,860) =0
Loc all xe R
Applyy tue Chain vude

(execcise Yo Coneyy it euﬂr\ -

Thw (lmP\id‘- bonction )

Lt §: R R be ol cduss CT
ond wete = HZF). I eRxR
1 @) e R™ s s0 Uk
$(@R)=0 ond dedk F (@) #0
i Pards @ nghd < R"
A O and « uigre continuousy




Soackion Q:-%— R - Q(’&)v—%
and $(x9)=0 V¥xeb.
Moreoves™ Q) 15 W ek o clusy C*.

’pﬂpol‘; Ne C‘DVLS"““C(' U Qeu_
et by

FR —R  \c whidk we
Caun 0'1']’\15 ac Saverse bunchion Hum.
Namdy FGED=(*AER). To
aﬂ)la wverse Junckion Ham , We nad ko
Chiwke thek DF iy hon-anaider
ot @EYe R™.
N [ O

Dﬂa@:(ai oA )

5‘;(3.-5) 5 (3L

So by Lemm 242 wvr Munkres

det DEG) = det ?%'(‘G) “+0.



Ao note. T(EH) =(2,0).

lwverse Q(nd'ion Ham

=> dhew ae (LC le, Ve R
So bk UxV & RSR nghd
of (B.b)c R>W

ond WE R ngd ok (@0
Q) F:UWxy— W 'w\'scd‘ivt
@D F' WUV s of clss

O

w F'Gici)= (RQ). Tw

wmuesse is ol U Forun

(%, = (R Mx.D), rhere
wis of clss ¢V
Cleim = Ouc Sougut  Roackion




s A3 = W(x0).
@ we swow X QR =0O :
We leuwe F"(_Si,"é):cj’g,h(‘,{b))
= (-;( )‘2(;1 Wxso \\‘
and hence $(X,9(R)) =O.
@ We Svow QA)=b.
¥(©&.v)= (3,0) <o
G,%) = ¥'(3,8) = (3.h(@.0)
- = (&, %(&'.D
=7 %(Z,) =Y .
G we Swow el 0y s wnriQue,

AsSume 30 ¢ ‘R’k——-’ \R“ 18 Gnother
+mmchion W/ 4l <ame pmfarhts



as S. \n \aart—icu(nr g(a) 7-1!""30(&).
Next Shep: Shao Unak 9 and Qo agyee
w o whd o e R”.
4 Canmomn, So Snghd Boc B
of O Swh vl %(&)CVCM‘R\
2(x0dx)=0 %o

F(X0GN) = (Xp) &

(RGN = FEB)= (X W)

S Qe =q@) VReRy.
Next we o Yl o= W (L
We jusk Shewed {Lhat

%i | 19()-a060)) --o}oz? Ww

“‘!S clso clened Snee %, o Qh.(‘
Lhre erwa |- | 0ce cewbinugun fecan.



= IXeB| (a:)-94) =03
C‘P?“-M- 11V u g.\l\-% U. WD
Conecked, A Oty Clopw-
sty et Zand L

AIX€D | laon- C@U\*-—O} uU

B Hwed=0)
S 'R{_’ R < (12)
Oy \— ¢t '3 =

For e (12) {12)=0
Also 3'&" = A% , a—g'-——?.*s Bokla (YQ'

N\V‘nd& L Non-2&v ok (“Ltl)
S0 Can SAve x?._%l-g:o <
eter % 6 4 wviewr (XQ)y=(1.2).

-Qa %:%u\ = JS’-X‘ .



